
 

Kindergarten 3 幼稚園 

 

1.  6 + 4 + 2 =? 

 a. 10    b. 11   c. 12   d. 13 

 

2. 10 – 2 =? 

 a. 9    b. 8   c. 7   d. 2 

  

3. 以下哪個等於14？ Which of these equals to 14? 

 a. 6+6   b. 7+6   c. 5+8   d. 6+8 

 

4. Fig. A款的形狀與哪種圖形相似？ What kind of shapes that Fig. A similar to? 

 a. 正方形   b. 圓形   c. 長方形  d. 三角形 

 a. square   b. circle   c. rectangle  d. triangle                     Fig. A 

 

 

5. 這是幾點 (Fig. B)? What time is it (Fig. B)?           

                            Fig. B 

 a. 6:05   b. 1:30   c. 2:30   d. 6:08 

 

 

Answers:  1. c  2. b  3. d  4. d  5. b 

 

 

 

 

 

 

 

 

 


